

$$a_n = a_1 + (n-1)d \quad a_4 = a_1 + 3d \quad 3d + 60 = 91 \quad 3d = 31 \quad d = \frac{31}{3}$$

$$V \times (n-1) + 60 = 208 \quad V \times (n-1) = 148$$

$$n-1 = 148 \div \frac{31}{3} \quad n-1 = 14 \quad n = 15$$

$$n = vk + r \quad vk + r > 100 \quad vk > 9v \quad k > 1, n \geq 1$$

$$101 = 3 + (44)v = k = 14 \quad vk + r \leq 999 \quad vk \leq 996$$

$$k \leq 142, 28 \quad 99v = 3 + (142)v = k = 142 \quad k \leq 142, 28$$

$$142 - 14 + 1 = 129$$

$$a_n = a_1 + (n-1)d \quad a_{n+1} = a_1 + nd \quad a_{n+2} = a_1 + (n+1)d$$

$$a_{n+2} = a_1 + (n+2)d \quad a_{n+2} + a_{n+1} + a_n = -5n + 12$$

$$3n + 2 = [a_1 + nd] + [a_1 + (n+1)d] + [a_1 + (n+2)d]$$

$$3a_1 + nd + (n+1)d + (n+2)d = -5n + 12 \quad 3a_1 + 3n + 3d = -5n + 12$$

$$3d = -8 \quad d = -\frac{8}{3} \quad a_n = 8 - \frac{8}{3}n$$

$$a_{17} = 8 - \frac{8}{3}(17) = 8 - \frac{136}{3} = -\frac{128}{3}$$

$$a + rd = r^x - 1$$

$$a + rd = r^{x+1}$$

$$a + rd = r^x - r$$

$$d = \frac{r^x + 1}{2} \quad a + rd = r^x - r$$

$$r = r^x \quad r^x - r - r = 0 \quad r^x = 2r \quad x = 2 \quad r^x > 0$$

$$S = (a + rd) + (a + rd) + (a + rd) = 3a + 3rd$$

$$S = 3(1) + 3(1)(1) = 6 \quad d = \frac{r^2 + 1}{2} = 1$$

$$a_{10} = a + 9d \quad a_{12} - a_{10} = 2d$$

$$(a + 11d) - (a + 9d) = 2d \quad 2d = 20 \quad d = 10$$

$$11d = 110 \quad 2a + 20d = 20 \quad a + 10d = 10 \quad d = 10$$

$$a + 10d = 10 \quad a = -10 \quad a_{11} = a + 10d = -10 + 100 = 90$$

$$20(90) = 1800$$

$$S_n = \frac{n}{2} [2a + (n-1)d] \quad S_{10} = \frac{10}{2} [2a + 9d] = 10a + 45d$$

$$S_{10} = \frac{10}{2} [2a + 9d] = 10a + 45d$$

$$S_{10} = 10a + 45d = 10(-10) + 45(10) = -100 + 450 = 350$$

$$b_n = a + (n-1)d \quad b_{n-r} = a + (n-r)d, \quad t_n = a + (n-1)d$$

$$a + (n-1)d = a + (n-r)d + 1a \quad d = a$$

$$b_n = a + (n-1)d = a + (n-1)a \quad t_n = a + (n-1)a = a + (n-1)a$$

$$b_9 = a + 8a = 9a$$

$$b_r = a + 8a \quad \frac{b_9 - b_8}{b_r} = \frac{9a - 8a}{a + 8a} = \frac{a}{9a} = \frac{1}{9}$$

$$a_1 = (1 - \sqrt{r}) \quad a_1 r = r + \sqrt{r} \quad a_n = a_1 + (n-1)d \quad -1$$

$$a_1 r = a_1 + 1d \quad r + \sqrt{r} = r - 1\sqrt{r} + 1d \quad \sqrt{r} = -1\sqrt{r} + 1d$$

$$1\sqrt{r} = 1d$$

$$d = \sqrt{r}$$

$$a_{n+1} = 1 + (n-1)d + 1 = (n-1)d + 2 \quad a_n = a_1 + (n-1)d \quad -9$$

$$r = r + (n-1)d - 1d = r + (n-2)d \quad r_0 = (n-2)d$$

$$\Rightarrow d = \frac{r_0}{n-2} \quad r + nd = 1 \quad nd = 9 \quad d = \frac{9}{n}$$

$$n(n-2) \quad r_0 n = 9(n-2) \quad r_0 n = 9n - 18$$

$$r_0 n - 9n = -18 \quad 9n = 18 \quad n = 2$$

$$a_n + a_{n+1} = a_1 + a_2 \quad a_{17} \Rightarrow a + (n-1)d + a + (n+1)d =$$

$$a + 1d + a + 15d \quad r + (r + 1)d \quad r + 15d$$

$$r + (r + 1)d = r + 15d \Rightarrow r + 1d = 15d \quad n = 14$$

$$a_n = r \times \frac{a_n}{r} \Rightarrow a_n = r a_r \quad a_n = a + 14d$$

$$d \neq 0$$

$$a_r = a + 14d$$

$$a_k = a + (k-1)d = 0 \Rightarrow d + (k-1)d = 0 \quad (k-1)d = 0 \quad k-1 = 0 \quad k = 1$$

$$n = 1$$